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HEALTH CARE SERVICES

Time Allotted : 3 Hours Full Marks : 70

The figures in the margin indicate_full marks.

Candidates are required to give their answers in their own words as
Jfar as practicable.

GROUP - A
( Multiple Choice Type Questions )

1. Choose the correct alternatives of the following :
10 x 1 =10

1) The National Leprosy Control Programme was

redesigned as National Leprosy Eradication Programme

in the year
a) 1963 b) 1983
c) 1993 d) none of these.

i) Alma Ataisa
a) Chemical b) Sponsorer

c) Programme d) Committee.
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iii)

iv)

vi)

vii)
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Which of the following is not a vital event
a) Marriage b) Pregni-éﬁ_c:,y_ tamet
c) Birth d) Death.

As per health care infrastructure, a subscentre should

cater to a population of ................ in hilly regions.
a) 3,000 b) 5,000
c) 30,000 d) 50,000.

Environmental health services include the following

except

a) Water supply

b) Sewage disposal

c) Maternal and child health services
d) pollution control.

The first National Family Health Survey ( NFHS )
conducted by MOHFW was conducted in the year

a 1892 -93 b) 1992 - 93
c) 1998 - 99 d) 2002 - 2003.

The National Population Policy ( NPP ) was launched in

the year
a) 1880 b) 1990
c) 2000 d) 1999.
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viii) The IMR in India as per NFHS-3 ( 2005-06
(IS,
a 73 b) 68 -

c) b7 d) none of these.
ix) NSSO stands for

a) National Soil Survey Organization

b) National Sample Survey Organization

c¢) National Sector Surey Organization.

x) Tertiary level care is delivered by

a) PHC b) Sub-centres
c) District hospitals d) none of these.
GROUP - B

( Short Answer Type Questions )
Write short notes on any three of the following.

3x5=15

2. Methods of contraception.
3. Health Manpower.
4. DOTS.

5. Dependency Ratio.
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GROUP - C
( Long Answer Type Questions N
Answer any three of the following. 3 x 15 = 45

6. GOI, designed the health care delivery system based on the

principle "placing people's health in people's hand". Discuss.

7. Discuss RNTCP. Sketch the main strategies and progress of

the programme in brief.

8. Discuss in brief the strategic schemes adopted by NPP for

effective population control.

9. Discuss National AIDS control programme and the role of

NACO.
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